32.14. Model: Assume the wires are infinitely long.
Visualize: Please refer to Figure Ex31.14.
Solve: The magnetic field strength at point 1 is

L (wd ) (uof . )
B,, =B, + B, on = , outof page | + , into page
at 1 top bot (ZT[d pag o \2md pag -
1
:>Bml=#+’ L1 =(2><10‘7Tm/A)(10A)( 172 - 172 )
2r\2cm  (442)cm 2x10" m 6x107 m

=B, = (6.67 %107 T, out of page)
At points 2 and 3,

P Hol . ) (uol , ) o
B . = , Into page |+ , Into page [=(2.0x 107" T, into page
» (an page |+| S into pag ( page)

n Myl ) (ﬂol ) -5
B .= , into page |+ , out of page |=(6.67x107 T, out of page
: (27rd page |+| = page | = ( page)



